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Aufgabe 1

Berechne den Grundwert.
a) 100 % von =73

d) 52 % von =39

g) 100 % von =21

j) 18 % von =9
Aufgabe 2

Berechne den Grundwert.
a) 65 % von =78

d) 50 % von =73

g) 80 % von =88

j) 40 % von =26
Aufgabe 3

Berechne den Grundwert.

a) 50 % von =362

d) 60 % von =264

g) 50 % von =159

j) 80 % von =180
Aufgabe 4

Berechne den Grundwert.
a) 30 % von =246

d) 40 % von =156

g) 100 % von =685
j) 100 % von =785
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b) 70 % von =56 c¢) 20 % von

e) 50 % von =14 f) 100 % von
h) 50 % von =12 i) 50 % von

b) 25 % von =35 ¢) 20 % von

e) 50 % von =21 £) 55 % von

h) 100 % von =162 i) 20 % von
b) 100 % von =909 ¢) 90 % von
e) 50 % von =284 f) 80 % von
h) 100 % von =689 i) 50 % von
b) 25 % von =167 c) 16 % von
e) 100 % von =424 f) 3 % von

h) 70 % von =350 i) 100 % von
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